CE311K - McKinney
Homework 7

Arrays

Problem 1. Text Problem 4, page 310
Problem 2. Text Problem 8, page 3111
Problem 3. Text Problem 20, page 314
Problem 4. Text Problem 30, page 316

Problem 5. Text Problem 4, page 328

Matrices

Problem 6. When addition is defined, add the matrices A and B in the following cases:

3 45 9 7 2
a. A= B =
2 1 6 0 1 8
n
b. A=[3 2] B-=
-6-
4
c. A=|5 B =
6
[0 1 (7 4
d A= B-
0 6 1 0

Problem 7. Find the product AB:

1 2 45
a. A= B =
31 0 2

O 0 K~ =



B=[2 4 9 6 5 0]

o 9 © —

Problem 8. Given the diagonal matrices A and B, compute AB. Is AB = BA?

all O 0 0 0 -bll 0 O 0 O ]
0 a22 O 0 0 0 b22 0 0 0
A = 0 0 Cl33 0 O B = O 0 b33 0 0
0 0 o . 0 0 0 0 . 0
| 0 0 0 0 a,f | 0 0 0 0 by,
Problem 9. Given the matrices
1 6
6 0 1 1
X=|3 10 = =
1 4 6 8
4

Show that Y*Z is not equal to Z*Y

4 3 2 1 17 16
Problem 10. If A= and B = ,then C = denotes the
2 1 3 4 7 6

a) __ sumof Aand B;

b)  difference of A and B;
c) _X___ product of A and B;
d) __ none of the above



